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67. IMBEX 2018-19 Military exercise was held at | 67. IMBEX 2018-19 %=1 araW &9 ®H w

(A) Rewari (A) Wi (B) Hie"
(C) Chandimandir (D) Ambala (C) T (D) smarer l=—== |
68. Largest Cancer Institute was inaugrated by 68. TAY 48 DR TR &1 IguieH wurEs |
PM Narendra Modi at? g 7wt v er? |
(A) Hisar (B) Jhajjar (A) R¥R (B) s &— . |
(C) Bhiwani (D) Sonipat (C) frar (D) AT '
69. Voter Park is opened in which city of the 69. dreR Ui AT Ivw @ fEw wew §
Haryana State? e T @2 |
(A)Gurugram  (B) Karnal A)ImL— By awAd
(C) Panipat (D) None of these (C) uriug (D) 3771 A BE T8
70. Dhosi hills of Aravali Range is located in? 70. 3RmEc! ydaeen @ Rl weifedt w8t Reg
(A) Narnaul (B) Mewat 7
(C) Palwal (D) Nuh

71.

it (B) Pit (A) o7 (B) =@
72 Su]rcsarir::(]duc e Tmﬂ;ih_ h SRl qﬁTﬂ(D] ik
. esamanas“Heisthesonof |72, & @ A= @1 qfvas < | @
the woman who is the mother of the husband ?ﬂ oW &Sy ol ﬁ?rrﬁ?; 21%;.?11 S
t:rl;:r*:r:: mother”. How is Suresh related to the ' e W T 9 ) T [aey ¢
(A) Uncle (B) Son (A) 7
: ara (B) gz~
(C) Cousin (D) Grandson (C) a9 g {D-) 3’;
73, 10" + " stands for *subtraction’ '
. n and u - n i . N
s::?ifis r;-)""‘fddiliun‘ and " =" stands for C ?“‘rﬁan-: !E:ﬂaj?;ﬁgg;nm il :+J T 3 ey
Iplication” and " X " stands for division : it PN B 3R ‘%’ o ad
) - : sion, WO &1 8 o Py "
'lchgﬁe\::;mh of the following equations js g T SRR § 9 o
-
(A)56 +12x 34 — 12 = 10 (AI)S6+12x34~12219p 1 §
(B)8 + 44 —5 4 25 = 203 .:'-'44;-'5&25_—_203!__,;..- : +r
lC)112x44-_12+1{]=45 fC)112X44—12+10.___46 - )C
14 tlnjg+54-2xﬁ='54 D)9+64—2x6=54 X
19 Inthe fﬂl\uwing st i
e question, selegy 5 -
15 dlf‘[crunl from other three alte lhc‘n-ne Fhwh 14. ﬁﬁlﬁ‘-ﬂha H 4 ?I'E‘n:-.ﬂ ; )
(A)SSx 5 Malives, |l Ary P I i gy
© (B) 15 x 15 T3 30 3 v
)S x 45 (D) 25 x 9 TR .ng/ & (qu)d wrafa
T (A)55 x5 wag
sairiimh “nd Murali go for jogging (C)Sx45 s B)15x 5 .
mvm?:gu:.hs:ddanh goes ‘““'arqsg.h;“"." the |75, Rzl sty T g](D) 25xg9 270
st Facy k:‘: :‘::;(r;'li lpro':tcds lu“ar(::il}m ik -fﬁa vd 7 mﬁg m & fom
- Siddanh g (g, . T ) Ay o e S E
-f!km and Murali turns 1 th:ﬁ;:l':“f‘ Covers g ¥n :iﬁg S 3 ey | ";r:_;i
km. Now what wil] be the dismnce‘;:m'tzw WR ey 4 fo freinres U afr
Siddarth and Murgjj» ‘Ween T & 4 e < T 319 Rrgnt sk
(A) 14 km (B) 6 km (A) 14 g e
(C) 8 km (D) 7 km (€) 8 famgy (g} 6 fari
: (D) 7 foonrt

which place? ' )
(B) Bhondsi

In the following questions, select the related
word from the given alternatives.

Lion : Den : : Rabbit : ?
(A) Hole

71.

e Ty e ? :

(C) ueras (D) 78

miﬁﬁilm:'?
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ﬂ;hich city was the 8th International
" Conference on Fusion of Science and
Technology organized? ;
(A) Faridabad (B) Rohtak
(C) Panipat (D} Karnal
94, Haryana Government has decided to increase
the old age pension amount by how much
Rupees every year? -
(AY Rs 150 (B) Rs 250
(C) Rs 350 (DY Rs 100
95.  Who has honored Kautilya Pandit of
Haryana with the Global Child Prodigy
Award 20207
(AY Manohar Lal Khattar
(B) Anil Vij
(C) Kiran Bedi
(D) Venkaiah Naidu
Poonam Chauhan who has become a Flying
Officer in the Air Force is from which
district of Haryana?
(A) Mahinder Garh (B) Palwal
(C) Ambala (D) Panipath
In which village of Bhiwani district have the
remains of 5000 years old Harappan
civilization been found?
(A)Tigdana village (B) Miran village
(C) Sippar village (D) Gujrani village
98. How much budget was presented in the

Haryana Vidhan Sabha for the fin

2020-217

(A) Rs 136743.26 crore

(B) Rs 142343.78 crore

{C) Rs 157843 .90 crore

lilll Rs 13234309 crore
‘I;:{E\;Ercfly of H:u'?;ann was the 38th Al -
otgnnim:;:rL Equestrian Competition
(A) Bhonds;
(C) Pehawgy

Wl

ancial year

(B) Pinjore
100.

" ¢ abha Spealiae ¢
Chand has launchey g, n'{:i"ﬁ’.("?““
Canteen in the year 23 1520 Mazdoor
(A) Kaithal (B) f."nnr:'nk
(C) Sirsa ulg

[D’ T‘a!.wa'.

93.

94,

95.

96.

97.

u8B.

99.

100

. (B) 142343 78 TYrs vyil—"

‘WO TG TR (S el W MTad
yRien aee @ g R wER A
fra an?

(A) wiigTams (B) e

(C) urfie (D) wemay”"
eRaon war 3w ol e Yv W 0
f?iir-‘i JUY) A AR T W SHen fhar
"

(A) 150 ¥YqY

(B) 250 TU0\—"
(C) 350 wyu

(D) 100 HOU
eRurn 3 afeey 9 @ R e

ey difseh amld 2020 | wenfAa fean
22

(A) "ATER e wWEd
(B) afvw faw

(C) fammr ah

(D) dwm Amg—"
T e W oarg ¥ 4 gensT AR @
T B ERgm @ Frw e A R 7
(A) FEma

(B) reme Vv
(C) araren

(D) uritga

frar foe & &1 @ & soo0 & qREN
ESWIETE Wl ® 3aiy e 27

(A)frremimia (B) fm i —
(C) Rrer 17 (D) sl Tma

faelta ed 2020-21 @ R BRamm R
¥ fpan gure e far Tar?

(A) 13674326 TS TUA

(C) 15784390 T[S ¥UY
(D) 13234309 FHUL v

BRamn & R wex W tas & aftee W
ﬁnﬁrg@wﬁ_ﬂﬁmﬁm‘mmm

(A) e~ (B) fireine

(C) U&m (D) wWomwms

sRun @ Fraffam § /A fha A 8
Rurmnn sy M w7 3 mf 2020 4 ares
faam woreR FEF w1 e R 27
(A) dus

(B)Y dumon
(C) fwm el

(D) weres
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21, Single Super phasphate fertilizer contains 21, Fel yue wibe Sdwn A & 2
(A) 16 % phosphorous and 12% sulphur (A) 16% WRETR 3MT 12% HEP
(B) 20 % phosphorous and 12% sulphur - (B) 20% wEERH i 12% TEH W-/
(C) 16 % phosphorous and 18% sulphur (C) 16% WIRERA 3T 18% IEH
(D) 18 % phosphorous und 18% sulphur (D) 18% WiepRa 3R 18% ATHT
22. Painted bug is an important inscct of 22, faf¥m an [Frafef eie o1 @ e
following crop e @ : s
(A) Gram (B) Garden Pea (A) @ (B) SET HeX
(C) Mustard (D) Mung bean (C) A (Dggrs.
23. Karnal bunt disease is found in following crop | 23, @¥ e @e 37 Frsfafaa wae 7 T
(A) Gram (B) Wheat SRl & [
(C) Mustard (D) Sugarcane (A) @1 (B) g, Q;»
(C) A (D) =1
24. Mahi Sugandha is a variety of following crop | 24, % 3w Frafefaa waa @ oa fr 2
(A) Wheat (B) Paddy (A) TI§, (B) am
(C) Fennel (D) Coriander (C) iw (D) ufrm"
25. GNG 2171 (Meera) is a popular variety of 25. Sirerel 2171 () e waer @
following crop Ud dieha e 2
(A)Black gram  (B) Green gram (A) &Ten =11 (B) &9 a=
(C) Cotton D) Gram M} Z
Gy ol ( J_ (C) dumIv" (D) ==
0. deed rate in Bajra (Pearl millet) crop 26. W BRE A die 2y
({gj’;‘; :E;;!:“ ‘ (A) 45 b, / gaeaqe "
© !-7kbm-d- (BYB-7 famn / gaeur
(D) 5.9 kgn = (©) 12 . /e
27. Mean unniu]ldc.: bon dioxid e it
i arbon dioxide concentration in v T e :
the atmosphere currently is...... 27. mi;‘;ﬁ?ﬂ:ﬂw : N 3t aiffes sy
(A)0.02 per ¢ ) 0.0 k=il 201
<percent  (B)0.03 per cent M
C (A) 002 wlm (B)ooa qu|—1 v
( }D.f}i percent (D) .05 per cent (C) 0.04 mfsm D ] ‘f
28.  The highest percentage comtent of nitrogen 28, AR W H:“ﬁlI f l{ D) es HF‘r'ﬂ'TjII
among the commonly used nitrogenous : Setvaii & :”'_'__?_ _:'i ‘ﬂf’f arel g Erer
fertilizers 1s embodied by B \.:H:_*ul'_{ & FEre girere
A) Urea N [Bad grr wfafg &
[ ) I {A} qf‘m ST
:2; Emr;unium nitrate (B)Sefh —
m :
: (C) s mgee
(D) Anhydrous ammonia (D; Profer Wﬂﬁ‘r;r
29 .?CI'U Ii”ﬂgc 5)'5[(’.'“'[' was first used 29 "ﬁ-ﬂ f::,_- — .
f & g . . =, u ,-_.].,['l}n— 'i'l'l']' f X
successfully in 1950 in pasture renovation HTTE -‘trr?Ir-ﬂ-;m;i"ﬁ ;LT:;; tIITT e .‘[ff
1, United Kingdo SRep T aay e L
(A) Germany (B) Uni gdom (A) i) (B) s favmgsy
{CJ USA (D) JJF‘]“ . (C) LAWK G (n ;,.I‘Tqr;i#-
L . ‘hich have highest 3O, T=ra gm B S8
. The irrigation 5}'31.{7“‘“'“!']1 have hig (A) I SHA ATt Rrard o @ -
) . A) RUEHET | attrt
| cfﬁ-::mn_mcs (B) Check basin (C) are . :g; I;;r ?qur
| (A) Sprinkler system (D) Drip system <
- (C) Flood : fdry mutter | 31, 400 Rom 1§ iy & Fre v
) 400 kg The dﬂ“xmqulrulncmﬂ Y 2P4P anqvaam & b uzre} o)
| for a heavy cow 18- 15-17 kg (A) IU'lzﬁ'*?“‘/_ (B) 15 -17 farcd?
(D)2.5-5 KB
(C) 20-22 kg
: 702_SET-C
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32. A ring should be worn in the nose of thie bull- | 32, wite @) =ms 1 e ygn wWRT-
(A) at the age of 6 months ' (A) 8 TTE @ My WY . & '
(B) at the age of § months to | year (BY 8 ®tE & 1 ad v g W =
(CY at the age of | to 2 years (C)1 31 2 o 4 3y T
(D) after 2 years ol age (D) 2 @ & arq @ amy W

33. ‘o.\'r]il:h one ul'_ the r'u]lm-.'_ing is the best 33, RO W e o # g Iered @ fen
bufTalo for milk production in the northern fFr=a i @ ada—0 e e itw 87
part of India? (A) srarad) oy
(A) Bhadavar Buffalo (B) i i
(B) Murrah Buffalo (C) GNTIFETEI?“IL/‘*;I/

(C) Jafrabadi buffalo D) # :
BUFN T
(D) Mehsana buffalo il
34, The main feature of identification of 3, wRaom @ ugae W W ETO]
*Haryana cow” is- = _
(A) long and narrow face (A) omar afi e der
(B) small and narrow face (B) v afe dfmwr wma
(C) long and broad face (C) &7 3fy =#NE1 wEa
(D) short and wide face (D) 227 3 fir=r g
35. Tharparkar' cow is of which species- 35, UNURER WA A gafa-
(A) Milch Breed (A) Qe =1ver—"
(B) Working Breed (B) @repTal 16
(C) Dual Purpose Breed (C) garah) w1y w2
(D) None Of these (D)2 & F1F 98
36. The best method of milking is- 36. gu gE o aarem fafy &-
(A) Copying Method (A) arpEefra R (B) e faf
(B) Fisting Method (C) ufzam fafx (D) T & @1 7F
(C) Sinpping Method
(D) None OF these ,

37. To which family do cow and buffalo belong? | 37. 7/ 3R % firw uRar A watza &7
(A) Bovidae (B) Suidae (A) @ifady (B) IS
(C) Equidae (D) Camelidae (C) sy (D) dirfers)

38. Match List — I and List — II and select the 38, (-1 w1 Y il @i e
correct answer from the code given — fu T wdarad A w8 Few @ aaT

_ qfaTg—
List—1 List—11 - -1
(A) White Revolution 1. Fertilizer Prodflclinn (A) T4 i e S—
(B) Cold Brown 2. Fish Production (B) f Wﬁjﬂ TR T
Revolution C): o 3 _
(C) Blue Revolution 3. Cereal PmduE:tinn ED; m Efi;s*”)(\lj’ A= Gl'.IIIE ‘
(D) Green Revolution 4. Milk Production = Und- AU RUEE
Code- ABCD - ABCD
(A)4 121 (B)1234 "‘“j'l-"——’ (By1234
(€)2431 (D) 1342 (€©)243 (D)1342
39. Inone ol the following animals, undivided 39. = oo | af
hooves are found. . i ¢ T E bR @ i st Ry
(A) in horse (B) in the cow (A) ¥irg #\~ '
C) in buffalo (D) in sheep - (B) 1 §
P-6
— 102_SET-C N
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11. Which printer is a type of Impact printer? 11, *a W flew ghae frer @1 wor 87
(A) Page Printer (A) U fires
(B) Laser Printer (B) &wv fiew
(C) Ink Jet Printer = (C) 57 e fiew
(D) Dot Matrix Printed— : D '.'q_ﬁ ﬁFﬂm ez
12. Waord Processing, Spreadsheet and Photo grovl

Editing arc examplesof ... ...
(A) Application software\,—
(B) System softwure
(C) Operating System Software
(D) Platform Sofiwiire
13. Rewil workers generally use .............

terminals to process sales transactions.
(A) Sales Processing
(B) Transuction Point
(C) Aumtomatic Teller
. (D) Point of Sale L~

14. Inheritance is a property of the object which
passes its characteristics to its .................
(A) sub classes L~ (B) off spring
(C) Super classes (D) Parents

15. Which of the following is a serial port which
pravides direct connection to the network?
(A) Firewire - (B) NIC
(C) usn (D) Internal Modem M
Which one of the following saves,aon-
contiguous clusters on a hard disk?

(A) Clustered 1ile

(B) Defragmented tile

(C) Sectored File ="

(D) Frugmented File

16.

17. A program that converts high level language
into machine language?
(A) Linker (B) Assembler
(] Lfnmpi'lcrw (D) All of the above
18. How many operating systems can work on one
computer at the same time”?
(A only one (B)two
(C) three (D) four
Images can be semt over telephone lines using

19.

(A) Big Bandwidih (B) Fax L
(C) ScanneT (1) Cable

2. Which of the fﬂllﬂ“;:ng is & scientfic
computer language.
(A) Basic
{C) Fortran V

(B)Cosoy.
(D) Pascal

P

12.

13.

14

[ 15.

16.

17.

18.

19.

20.

ad grathn waddie afv wey visfen
@ IETEXT &)

(A) ST HiTeadr

(B) tawoy wiveay

(C) aifaf2y fhven yifvedyz

(D) Fewm Wigedgy

e anjard) s e W faal @ R @
wfdar & fae . effErEl @

[P AT B

(A) A= wafam

(B) =Yaer @<

(C) aifemfes ooR

(D) w@rs= 3ifm &

gRREn, ez @ @ S

fostwamai & s L A ERTARG
GG A

(A) ¥4 a@TaY (B) 3w fm

(C) ¥Yw aaFE (D) ==

frer 1 @ wr v WRag 0d @ S Feaw
W BT FATIE TSl &P

(A) FIaIaraR (B) waang

(C) yuad) (D) guaTa wisn
=t 1 @@= om um grd fawn W
AR TEREY WY I a7

(A) @D Tigel

(B) dSnEmids wigd
(C) ftaed wrgd

D) widE WEd

5%_; W ol dea wR A o ay e
YT A dgdm 87

(A) feran (B) 3aeR

(C) Tmgoert (D) IuNaa nfl
v & unn A e asfudfen fen @
PR U WP @ 27

(A) &Fad UE (B) =«
(C) = (D) an

w1 SyA awd e agEf ®
TASA @1 WAl Al Haen 8

(A) 9@ ¥sfaga (B) 4w
(Cy w12 (D) Tae

fr=fafaa 4 4 o9 W nfas

LA G
w27 A
(A) afi® (B) wYdrA
(C) ®g (D) IREd |

Ty o L
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Fill in the blank with the rig?l option.
Rahul is happy as his uncle is......c.ccveneeee
mow.

;::,r:}f\rrircd (B) At‘l‘i.\'c_‘i
{CJAn-i\'jng-/ {D}‘AI‘I‘I'-'I::_
50.  Fill the blanks with the right pair of words:
My.......... 1o you is that you should.........
)-n;mc:ll' to the situation as quickly as
possible.

} Advise, adapt  (B) Advise, adopt
(C) Advice, adapt (D) Advice, adopt
S1.If 3 times o number exceeds itr~;5E by 60, then

what is the number?
(A) 25 (B) 35
(C)45 (D) 60
52. Which smallest number must be added to
2203 so that we gel a perfect square?
(A) 1 (B)3
(C)6 (D) 8
53. The maximum number of students among
whom 1001 pens and 910 pencils can be

49.

distributed in such a way that each student

BEUs same number of pens and same number
of pencils, is:
(AN

(Cy 1o

(B)910

(D) 1911
MU b would e Purchased 11 anicle

10 ungd sold all the articles at the rul
Ry, 11, the Mufi
(A) 10

sfor Rs.

ol 10 for

Percent would haye been:

(B 11y

(C)2% Dy 100

55. Wthe difference Detwe
nlerestand simple 1nterey On a sum gy §
Rle ol inlerest PET annum 1o three years, is
Rs. 36600, then the sum js- -
(A) Rs 5000 (B)Rs 8400
(1 Rs 4200 (D) Rs. 4800

56. 'ﬂm_-:f Fatio of 1wo numbers 15 10:7 and their
difference is 105,

(A) 595
(Cy 11w

" the compoung

1H) 805
(n) L[11V]

sum of these numbers T

Sl

53.

- {C) 45

56.

3
aft @l wen @ frpn, ww we@n @ -
¥ 60 Aftrw B, @1 98 WEm @7 - 3
(A)2s L (B)35 3=

(D) 60

-5 l
2203 W A8 W AYan Hw@n Sid) aIv
% afemm e qoi @it er?

2

-

(A) 1 (B) 3 :_41:
(C) 6L~ D8 Fq

B @ afrsan vien mﬁ'jﬁ?ﬁs dra
1001 @eri a1 910 AffTel ) g9 wew i
ST & f welh BT @ avaw wean 9
PR W TR @ N ARGy g

g > ;_‘Rcrr __
(A)o1 ' (B) 910 a
(C) 1001 (D) 1911

aft A9 10 W@ f gy el @i e

11 R0 aql @ @ w oD e fean,
a mn ufarma @ng gy Y |
(A) 1095 (B) 11%

(C)21% (D) 100%

afe faqn aaafa v gy,
T UMY Ay Wiy enan wr s b
B0 B M ey 2

(A} # RO (B)+ 8400
(C)z s34 (1)« ag00

afta 23 4 3 auf

R A@ :;;:jum 107 ¢ M erasy
R 105 & W WL @ L
(A) 5ys (B) 805 lo &
(C) 1190 (D) 1610 N
. ok QL [
35 oy - Ty = fod
135 X i
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. i . . - fa fara [
| 81. Inthe following questions, m.:lcu the related | g, E’“WL‘IQ T e A A e we s
word from the given alternatives. UeH C wme . g 2
: - (27 ki
Study : Knowledge : .lv;x;foqun. 1A ke (B) Hd
(A) Experiment (B): ﬂ"'-'“"’ i Frafe
(C) Experience (D) Appointment bl | ) Pl "B
82. A man make his daughter marry with his 82, UT mmmd ) 'l:” 'fT‘_" frame: ey ardl %
aunty’s son. How did son-in-law call that 2.1 o M“T i \“.m-amri .
i hafare? wfd ) #ha 4T / qateen 2’2 Y, :
(A) Uncle (B) Brother M" e (B) “"
(C) Cousin (D) Aunty (C) aydar g (D) ard

83. If" — " qtands for addition, " 4 * for 83. uf’ Gvaa m fasy PL4" T
multiplication, * < " for subtraction and " x " T M ) fnma ar om Frerfafam a4 q
for division, which one of the following B I wRET e 2 —
equation is wrong? a5 L . - X |
(A)5-2+12x6+2 =127 WS -Z+12%6+2=27 7 2|
B)S+2-12+6x2=13 B)5%2-1236x2=13 = 7
©5+2-12x6+2=1g thSiZi'IZ_-‘?{ﬁlZ"—"lq e

"

tD)5+2+12x6—-2=3 tD}S-:-2+!2x6~2=3 I

84. Inthe following question, select the one 84. f’T‘-:ﬂ“Hftm RIIRECHE B i v I F 4fae |
Which is differen; from other three SRR L T G T (T) A wafa
allernatiyeg. Tl ¢
(A)24 — 49 (B) 38 — 61 (A)24 - 47 (B)38 - 61 -
(C)74 - gg (D) 54 — 79 (C)74 —98|_— (D)54—-77 *

85.  From my hoys, | walked 5 km towards 85. AW WY Im W ain s h’%,'ﬁﬁ hiid
North. [ wmed right and walked 3 km. Again 7S SR g SR 3 Ry ol | faw 4
I""cm“““kmlmhesuuth How far am | ?‘maﬁm1ﬁﬁmm"'ﬁmmﬂ
from my hoygan fserm qr 7 2 B
(A) 7 km (B) 6 km (A) 7 fofy ' (B) s oy A
e b (©) 4 R, D) s fdl—T1
Fu“.l Iht.'. m“.‘ﬂng nu bc ;

5255,53¢ o - =2 ﬁq%ﬁqﬁw'maﬁm'
(A) S0 ' 06;;,5408, 5459 52!5'5. 53!‘}?.?.5408,5459
(© 205, Nl (M) SOSE reS (B) s3gp, . —
87. Incode 1ﬂngu.agc irwhiIISIS'J (C) 2257 (D) 5157
is yellow. Yelgy, ;, bsu.f mta_“_-‘* black, black | 87, e e sy 4 uf2 E‘me 2
is green, then whay Wihe oo, " 19 7ed, and red mﬁ & DT ared &
1 —— — =
(A) Yellow mml"u:l" of blagd? T & oA & A A *';ﬁf"ﬂl ¢
(C) Red (D) Gy, N 3 A SRR v g 4
. (A) e (B)
(C) &=
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P & A a3 q@ agE & e =1

1. Which one of the following is not a function 1,
of the liver? #
(A) Regulation of blood sugar (A) @ wak @1 AP
(B) Enzyme aclivation (B) o FEa
(C) Detoxification (€) M
(D) Reproduction | (DY F
2 Proteins are made up o] - 5. srem b T e
(A) Sugars (B) Amino acids (A) ymil -_,(_Bfarﬁrﬂ’l rfirs
(C) Fatty acids (D) Nucleic acids (C) iy glrs (D) =yfawrs vfirs
3. Which vitamin is needed to prevent Xero- 3, uRI-geafor ) e @ fam @A A
phlhnlmiu‘.’ fyeifaa aparas 27
(A)A BB (A)A (BB
(©)C (DD (G)e (DyD
4. Hepatitis is a general term for a discase that is pergfen m durh @ g g@ FrE we §
caused by ' st Faraa @Tam & #
(A) Viruses (B) Bacteria | AT el (B) #wORw
(C) Parasites (D) All the above (C) mufid (D) ST @il
5. What happens to the resistunce of o wire when | 5. i TR A ard I I WD gfererd
its Iength is doubled? . a¥ T T e 27
(A) Gets doubled (A) =g @ @
(B) Becomes half {HJ: S S i!'d(
(C) Becomes nil (€} s @ T
(D) None of the above (D) ST | W
6. The resistance which can be changed as L nﬁmii f3rey gwan JEen S S E
desired is called: TEC ¥
(A) Wire joinls (A) A @ /
(B) Fixed resistance (B) FfEan wlime
(C) Variable resistance (C) R afie
(D) A switch (D) s fay
7. *Rheostat” is the other name of: 7, ‘R’ ... T TE AE g:
(A) Fixed resistance (A) Pifzas s
(B) Variable resistance (B) mivartra afe
(C) Insulator (C) = y
(D) Conductor (D) FeTe :
8. Which one is not the form of Biocides? @ 7 anirmgEe o w9 e 87
(A) Salt (B) lodine (A) (B) amardr
(C) Sugar (D) Bleach (C) o (Dy =fra
9. What is Rodenticide? ! g, WRefewrss ¥ &7
(A) A medicine (o kill m—a (A) el ) e e
(B) A medicine to kill animals (B) wypil @ s &) &
(C) A lubricant (C) v Fred
(D) A pesticide (D)= iﬁTE'leﬂ_lﬁ
{0. Whatis NBR? 10, TAMIWR A41 87
{A) Normal hcr}-lunilrﬂ:-hutudicnc rubber (A) HTHT ﬁqjﬁfﬁiﬁ‘d—w[cﬁh ECL)
(B} Natural Aurylunilrilc-butmlil:nu rubberl””" (B) mipfaw GG (4 (A C I Y
(C) N Acrylonitnle-butane rubber (Cy T t:ﬁft—ﬁﬁnwsa—u{eﬂ e
(D) Au:ryloni:rih:-humdicnu rubber (D) ofiret A -eETeT T4
F'J’ ?[]2“5[‘:.].-(1
e —
— —
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58.

59.

61,

62.

63.

0O,

65.

66.

57. A cancomplete a piece of work in 10 days, B

in 15 days and C ih 20 days, A and C worked
together for two days and then A was replaced
by B. In how many days, altogether, work was
completed?
(A) 12 days
(C) 6 days

(B) 10 days
(D) 8 days

A train 180m long moving at the speed of 20
m / sec over takes a man moving at a speed of
10 m / sec in the same direction. The train
passes the man in :
(A) 6 sec (B) 9 sec
(C) 18 sec (D) 27 sec
There are 30 students in a class. The average
age of first 10 students is 12.5 years. The )
average age of the remaining 20 students 1S
13.1 years. The average age (in years) of the
students of the whole class is:
(A) 12.5 years (B) 12.7 years
(C) 12.8 years (D) 12.9 years
A solid metallic cone of height 10cm, radius
of base 20 cm is melted 10 make spherical
balls each of 4 ¢ diameter. How many such
bulls can be made?
(A) 25 balls (B) 75 bally
(C) 50 balls (12) 125 balls
Red Jungle Fowl is found in which plack of
Haryuna |
(A) Karnal (B) Panipat
(C) Ambala (1>} Panchkula
Where is Nar Narayan Cuve located?
(A Hisar (B) Sirsa
(C) Rohtak (D) Yamunanagar
Who was the first Harvanvi novel writer?
(A) Rajaram Shastri (B) Dhanik Lal Mandal
(C) R.S. Narula (D) None of these
First cyber police station of Haryana was
established in?
(A) Panchhuly

: (B) Ambala
(C) Gurugram

(1) Karnal

Where s the biggest animal husbandry farm
of asta situated at Haryana?

(A) Ambala (B) Bhiwani

(C) Hthisar 1D) Rohtak

Which is the main magazine of Haryana
Sahitya Academy?
(A) Ram Vani

(C) Hangandha

(B) Saral Sarita
(D) Devpruyag

60.

61.

57. Avx =Tm @ 10 2 4 B 15 i A an

58.

59.

62,

63.

64,

65.

66.

Cofefidasarm 21 AR CATE
w2 2 o om fFm Sud arg A A
e B wm o @) g3 @m e T
i grm? ;
(A)I2 &= (B) 10 &=

(C) 6 R (D) 8 faa

v 180 M @ YO 20 M /A AW A@
ﬂﬂ?ﬁ‘lgﬂﬂmﬂﬁﬂnﬁmﬁ‘uﬁa&
e A A @ e F UR 3 A fee
wya Tl |

(A) 6 Havs (B) 9 fi’cﬁ'ﬂg/
(C) 18 /TS (D) 27 ¥vs

vd = A 30 REmfl &) wem 1o faenfai
oA W oAwg 125 T R XA 20
Preflal @ amy @ o 131 TR
<ol e o) ARy o3RI S AR
(A) 125 ad (B) 127 od

(C) 128 T4 (D) 12,9 ad

vE 10 W FEg wen 20 AWM P ard
yER @ Tm @ 4 W @ e |l A
gRrafda o man s A& @& a@ §1)
T |

(A)2s 118 (B) 75 a2

(C)so M2 (D) 125 2

arer srredt At gftaron @ R um aw
urg o @7

(A) T (B) urfiver -

(C) ar=aren (D) wa@a

T AR mel Rua &7

(A) f_&*-inf (13) "
(C) TTEel (DyOgArFTR
werd el Sy dvaas ata op

(A) g qired (B) ufen orar wae
(C)amua T&HA (D)o @ GO R P |
eframm @ wwen wge gfr gew Gy
e (g

(A) Tq3A1 (B) amaqiay

(C) L~ (D) &2

UINAl 1 HIR GBI URuIes g
el feem #7 " Sfearen

(A

\) ST (B) faarh

(C) femma— (D) AEer

B E o e MR B sy afyan i
(C) efoma~ @ aRa

(D) Zaugm
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["40. Whatis the average temperature of cow and

buffalo?
(A) 98.4°F (B) 100°F
(C) 101.5°F (D) 102°F

Direction (41-42) In these questions, some
sentences arc given with blanks to be filled with an
appropriate word (s). Four allernatives are
suggested for each question. Choose the correct
| alternative out of the four,
41.  All civilized nations now believe in
treatment of poisoners.

(A) human (B) humane

(C) humanitariaW%® (D) humiliating
42.  His father introduced him at an

age to the game of cricket.
(A) inquisi[il:'t_v (B) inv.en_t;ihleﬁy
(C) impressionable (D) impressive gav”
Direction (43-44) In each of the following
questions, find the correctly spell word.
43. (A) Agressive (B) Agrressive
(C) Aggressivel” (D) Aggresive (532
44. (A) Sinchronize (B) Syycronise
‘ _|ij Synchronize V' (D) Synchromise
Direction (45-46) : In these questions, i senlence
has been given in Active/Passive Voice. Oul of the
four suggested alternatives, sclect the one which
I:Pc;ilc?pm%cs the same sentence Passive/Aclive
45.  Our task had been completed before supsér,
(A) We completed our 1ask before sugser.

(B) We have ompleted our task
sunse @B 01T sk before

(C) We complete our 1ask before sunser

sunsel.
46. We have already done the exercise.

(D) We had completed our lask beforet_—

40. ——k i e

(A) 98.4°F1.
(C) 101.5%F1_~ (D) 102°FT.

(A) Already, the exercise has been done by us
(B) The exercise has already been dope h}: us
(C) The exercise had been already done by ud L

(D) The exercise is already done by us

Direction (47-48) Out of four alternatives, choose

Word,
. MASSIVE
(A) Lump sum (B) Strong
% (C) Liule (D) Huge L~
| * DEFER
(A) Indifferent (B) Defy
(C) Differ (D) Postpone

P-7

AN

the one which is similar to the meaning of the gi\'cn_
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( 76.

i7.

78.

79.

80.

Find the missing number.

44,56,69,83 7,114
e (B)98
(C) 100 (D) 110
If *"UNIVERSITY" is coded as 1273948756,
how can *“TRUSTY" be written in that code?
(A) 54285641 (B) 531850
(C) 541856 hor (D) 541956
In the following question four statements arc
onclusions L 11, Il

given followed by four ¢

and IV. You have 10 consi ‘

to be true even if they seem to be at varance
own lacts. You have (O -

nclusions, il

atemenlis.

der the statements

from commonly kn
decide which of the given co
any, follow from the given st
Statements
1. All metals are silver.
2. All silver are diamond
3. Some diamonds arc gold
4, Some gold are marbles
Conclusions
(1) Some gold are metals
(11) All metals are diamond
(1IT) Some silver are marble
(IV) Some gold are silver
(A) Only conclusion 1 follows
(B) Only conclusion 11 follows
(C) Only conclusion Tl follows
(D) Only conclusion IV follows.
[n a row of girls, Kamla is 9™ from the left
and Venna is 16" from the right. If they
imﬁlrchﬂngc their positions, Kamla becomes
?.5 from the left. How many girls are there
in the row?
(A) 34 (B) 36-
(€) 40 (D) 41 _
Find the missing number from the given
" responses in each of the following question.

fany

Q 12
(A) 11 (B) 25
(10 (D) 27

76. =1 Soh# gw wear s By |

79.

80.

77.

78.

44,56,69,83 7,114

(A)90 (B) 98

(C) 100 (D) 110
af'UNIVERSITY @ @ @ = 3
1273948766 foranm omQ. O 9w EE AN A
TRUSTY' & fihg AF T wmem?

(A) 542856 (B) 531856

(C) 541856 (D) 541956

ﬁm%rﬁaﬂn?ﬁmmﬁmmzﬁm

mfﬁwﬁl.ll.lllmwﬁtwﬁlm
wrE= sma el # aiew gm @@ M
Wﬂa‘qﬂ‘:u‘fi:%qﬂrm:c-,ﬂmwgmﬁ|mq
maﬁﬁﬁﬁrﬂﬂ‘qﬁ‘rﬁm‘fﬁﬁzﬁm—muﬁ:
a1d @, Ry Ty e @ P

e 5
l.agﬁvﬁmu@ﬁ%n?"

I & gl ER 7

11, e i s &1 X

IV, 3o @ e 817

(A) daa Papd | Praverar 21
(B) @aet fret 11 Frererar @ |
(C) B Presd 11 FAgrermr &1
(D) @ael Fef [V Faderr 21

ﬁ@wﬁ@ﬁmﬁmrmﬁaﬂ?ﬁgé}(

2 afty & oY 3 9 16d1 | Tfe 2 3m0A
maﬂﬂﬂmﬂ,mmmﬁf

2541 Bl W [ ' fereit
wefardl &7 Jqﬁﬁéaﬁ '
(A) 34 (B) 36
(C)40 (D) 41
e W& 5 B UL v

AR

{ o /
(A) 11 o
(©) 10 :
DA’
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88.

90.

91.

92,

In the following question, two statements are
given followed by two conclusions land I
You have to consider two statements Lo be
true even if they secm to be at variance from
commonly known facts. You have to decide
which of the given conclusions, if any,
follow from the given stalements.
Statements '
(1) All men are employed
(2) No employees are professionals
Conclusions
I. No men are unemployed
[I. No men are professionals
(A) Only I follows
(B) Only II follows
(C) Neither I nor 11 follows
(D) Both [ and Il follows
A, P, R, X, S and Z are sitting in arow.S
and Z are in the centre and A and P are at the
ends. R is sitting on the left of A. Then who
is on the right of P?
(A) A
(C)S
Find the missing number from the given
responses in each of the following question,

fan
2

(B) X
(D)Z

216 | 64

(A) 343 (B)512

(C) 729 (D) 1000

Who inaugurated the Integrated Command '
and Control Center in Gurugram? '
(A) Mahesh Balhara

(B) Bhupinder Singh Hooda

(C) Chief Minister Manohar Lal

(D) Anil Vij

which Haryanvi has been ranked by the
world's famous magazine Forbes in the list of
20 celebrities o dominate the world in 20207
(A) Anil Vij

(B) Manchar Lal Khattar

(C) Dushyant Chautala
(D) Krishna Minda

P-13

88.

89.

90.

91.

92.

(B) e e EW

Prefafrg 7e® weT A @) Tave! @ amt @)

fremt 1, afe 11 T 7T 2| 319 W S
ezt ¥ afe B9 TR Q) aeat
qzaTA, e THE Y WY | A9 ' R
fro Mo fresdl 8 A F-w, Gk @ 8. Ry

Tmmﬂifﬂﬁrﬁmﬁl

TR :
[1)¢nﬂwﬁlﬂwﬂéj
(thﬁ'rzfﬁaﬁmﬂmTﬁHeﬁﬁl
forepd :
L 3 M s R TE &) ¥
[1. 7 of ameft amaard & &1
(A) daet fmi | foyereren 21
(B)mﬁmllﬁﬁmm
(C) = a Fregd | a1 & Fremd
2l

(D)ﬁ'ﬁélﬁhll.ﬂ:ﬁﬁﬁﬁrﬂal
A,P,R,K,Samz'qasrfﬁmﬁi’réﬁlmﬁ
S Z wen § 43 &1 iR A T21 PRRT W

ﬁ?iﬂ,ﬂﬂﬁﬁﬁaﬁ?ﬂm%mﬂi’%

e sty @ der &7 41—
(B) X Hﬂl =

(A)Alr/ 2

(C)S (D) Z*¥ |
PP e el § fey M Rwet A
qw wem s B g 3

"

216

e |

)

(A) 343
(C) 729
meu H gEeE TS
Squre A ?
(A) 72 ToBIRI

(C) FEN ISR 1
(D) afre Rl
fava & uRre 9fEE ‘ww” 7
¥ g ved a@ 20 e @)
gRaordfl & e Rear 87
(A) &

(B) WATER €Il WEX
(C) gua e
(D) o fr

702_SET-C
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